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A) Answer the following questions (1x5=5)

a) deals with the ascertainment of cost of product or service.

b) A unit of quantity of product, service or time in relation to which costs may be ascert

or expressed as
)
finished output.
d)

conveniently measured and directly charged to the product.

ained

consists of wages paid to labour which convert raw materials into some

are those materials which can be identified in the product and can be

b ¢) When costing information is set out in the form of a statement, it is called

B) Answer the following questions

a) Objectives of Material control
b) Merrick differential plan

c) Objectives of Cost accounting
d) Taylors differential plan

e) Straight Piece rate

Q.2 A. Following information has been obtained from the records of Beta Ltd for 2014, Ca

Prime Cost, Factory Cost, Cost of Production, Cost of Sales and profit

(1x5=5)

(10)

Rs.

lcul:



Direet Materials
Consumable stores
Direct Wages
Manager’s Salary
Wages of Foreman
Directors fecs
Electric power
Office Stationery
Lighting: Factory
Telephone Charges
Postage
Telegrams
Storekeeper’s wages
Salesmen’s salary
Oil and water

Travelling expenses
Rent: Factory
Advertising

Office

Warehouse charges
Sales

Factory plant
Carriage outward
Transfer to Reserves

Dividend

Discount on shares written off

Depreciation: Factory Plant

Office Premises

Differential piece rate system,

5,000
1,250
2,500
500
1,89,500
3,500
375

1,000
2,000
500
500
1,250



Normal rate per hour R 1

Srandard time per umt 1 minute

Output per day is as follows:

Worker A-758 units, Worker B-900 units, and Worker C-1100 units.
Working hours per day are 8.

Q.3 A. Prepare a stores ledger account from the following transactions under the FI1FO method
Jan

1 Received 1000 units @ Rs.1 per unit

10 Received 260 units @Rs.1.5 per unit

20 Issued 700 units

21 Received 400 units @ Rs.1.15 per unit

22 Received 300 units @ Rs.1.25 per unit

23 Issued 620 units

24 Tssued 240 units

25 Received 500 units @ Rs.1.10 per unit

26 Issued 380 units

OR

-

Q3.B. A. Prepare a stores ledger account from the following transactions under the weighted
average method

Feb 1 Opening balance 300 units @20 per unit
Feb 5 Purchase 200 units @) 22

Feb 11 Issue 150 units

Feb 22 Purchases 200 units @23



I'eb 24 Tssue | 50 units
I'eb 28 Issue 200

Shortage 5

as follows:

Q.4 A Two components A and B arc
80 units pcr wecek cach

Normal usage
50 units per week each

Minimum usage
100 units per week

Maximum usage

A: 600 units

Reorder quantity
B: 800 units

Re-order period A: 4 to 6 weeks

B: 2 to 4 weeks

Maximum lead time for emergency purchases A: 2 week

B: 4 weeks

Calculate for each component:

(a)Reorder level (b) Minimum level (c) Maximum level (d) Average stock level and (e) Danger

level

OR
Q.4 B. Explain the material procurement procedure (10)
Q.5 A. Explain any five incentive plans d (10)
OR
QS5 B. What is Labor Turnover? Explain its‘ causes (10)

Q.6.A.Write Short Notes
(5x2=10)

a) Time booking

b) Importance of cost accounting

OR



Q.6.B.Write Short Notes (5x2=10)

a) Halsey & Rowan Plan

b) Requirements of good time keeping system
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OPERATING SYSTEM CONCEPTS (CAC-]06)
SEMESTER 11
Total Marks: 60

Duration: 2 hours
Instructions: 1) All questions are compulsory.
i) Figures to the right indicate full marks.

Q.1. A. Fill in the blanks with appropriate word(s): (5x1=05)

1. is the only large storage area that the processor can access directly.

2. The policy determines where in real memory a process piece is to reside.

The lines provide a path for moving data among systems modules.

L)

system call.

4. A new process is created by the
g system with swapping where processes reside

A system is similar to a pagin

n

in secondary memory

Q.1.B. State whether the following is True or False: (5x1=05)
1. Magnetic disk provides storage for both programs and data.
2. As a process executes, it changes its state.
3. Swapping is known as 2 technique for memory fragmentation.
4. A process is thrashing if it is spending less time paging than executing.
5. Indexed files uses multiple indexes for different key fields.
Q.2. Answer the following:
A. What is the use of device controller and device driver? (02)
B. What are the ways by which deadlocks could be handled? (03)
C. State the CPU scheduling criteria. (05)
Q.3. Answer the following:
(02)

A. Define thrashing.
P.T.O.



B I xplain the following lerms:

bh) Deadlock o

(()3)

a) C ritical Section (05)
Write a note on Dispatchcr.
().4. Answer the following: _ .
‘ - ) ' ith each partition having §MB, mention the degree of
A If the size of physical memory is 64 MB wi
’ (02)
multiprogramming. (05
. : i ors.
B. Mention the difference between Asymmetric and Symmetric Multiprocess )
. 05
€. Write 2 note on Deadlock Prevention. (05)
Q.5. Answer the following:
% State the use of the following terms: (02)
2) Address lines b) Control lines
B. Explain the concept of Proportional frame allocation with example. (03)
C. Write 2 note on semaphore. (05)
Q.6. Answer the following:
~. Mention any two File Access Rights. (02)
B. Write 2 short note on the Sequential File Organization. (03)

)

(05)
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Q.1.A) Complete the statements by using appropriate word(s) (5x1=05)

1. The term Push and Pop is related to
a. Queue
b. Stack
c. Both
d. None
2. Anarray is a collection of
a. different data types scattered throughout memory
b. the same data type scattered throughout memory
c. the same data type placed next to each other in memory

d. different data types placed next to each other in memory

3. Which of the following is a non linear data structure?
a. Array
b. Queue
c. Binary Trees

d. Stacks



4. A queuc follows _

5. Insertion and Delctiol

a. LIFO principlc
b. FIFO principlc
¢. Lincar tree
«dered arra
d. Orderec y o »

) operation in Queuc

a) Push and Pop

b) inqueue and Dequeue
¢) Insert and Delete

d) None

B) Define the following

1.
2. Space Complexity
3. Stack

4.
5

. Circular queue

Data structure

Doubly linked list

Q.2. A) List and explain any two advantages of linked list

B) Sort the given numbers using ANY ONE of the following techniques

7348962

a. Insertion Sort
b. Selection Sort
¢. Bubble Sort

C) Write an algorithm to perform push and pop operation on stack.

Q.3 A) List any two properties of array

B) Write a note on Binary tree

C) Sort the given numbers using ANY ONE of the following techniques

5237481
a. Quick Sort
b. Heap Sort
¢. Shell Sort

(5x1=05)

(02)

(03)

(05)

(02)
(03)
(05)



Q.4.A) List various types of linked lists.
13) State and briefly explain any two operations on linear list.

C) Demonstrate three types of traversal on given binary tree

(15)
1) (26)
/ /"
(8) (120 (20) (30)
° _ %
Z N, iy
(6) (9) (14) (35)

Q.5. A) Write an algorithm for adding element at start of linked list.

B) Demonstrate insert and delete operations on a given binary search tree.

a) Insert 2, 9
b) Delete 14, 6

C) Explain various terminologies associated with tree data structure.

Q.6. A) Mention any two applications of queue

B) Convert the expression (A+B/C*(D+E)-F) into postfix expression.

C) Explain the working of Queue with an example.

(02)
(03)
(05)

(02)
(03)

(05)

(02)
(03)

(05)
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(2] Answer the following quentions,

a) Hf(x) Ve Gthen i fe ) (2)
I
By Find the teondependent ol v i e expation ol (b‘\ ‘I‘) ()
¢) Prove that [(p A ) (p o) o antology (")
(1

Ay Find trath vislues for
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O3] Answer the following, quertiony
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OR
o (5)
d) Find the output from the following circuit diagram.
N ~
A L A Q
s
B E— [
—————————— AV ) S—
C— ) L
Q4] Answer the following questions.
a) A function is given as follows:
3x+5 for—3 =x<-1
fx)={2x+1 for—1<x <2
2—x for2<x<4
(i) State domain of
(i) Find f(-1) and (3), 2)

b) Let A = {x|x < 4,x € N}. A relation R on the set A g given by

R={(1,1), (12), (2,1), (2,3), (3,2)}. Prove that R s symmetric relation byt it is neither
reflexive nor transitive

¢) IfA={a,b,c,d}&B={b,d,e,/,g}ﬁnd ”
(i) (AnB)x(A—B)
(ii) Ax(A-p)
(ii) (A=B)u(p -y s
3)

OR



) 10X =AABCDEGH L LM N, ORS,T,Y. 7).
B=AT.H.E,0,RY)&C = (T,H,E,0,R,M,5) then verify that
M B-C=(BUC)
()  FindCnB

(5)
Q5] Answer the following questions.
a) Define symmetric, reflexive and transitive relation. 2)
b) Write the truth table for NOR gate and draw its symbol. (3)
¢) Find n for the following:
() 4("P4) ="Ps
(i)  *"P3=60("P) (5)
OR
d) 9 cards are selected from a pack of cards. How many selections will contain
(1) Exactly 3 diamonds and 2 clubs
(1)  No diamond card
(il1) At least one diamond card (5)
Q6] Answer the following questions.
a) Iff(x) =3x—1 &g(x) = x? + 1 findf (g(x)). (2)

b) Convert (6438)10 to its binary form and convert (654)s to its decimal equivalent. (3)

¢) Prove by mathematical induction that

143464+ n(n2+1) _ n(n+12(n+2) . 5)

OR

. 3n-1
d) Prove by mathematical induction that 1 +4 +7 + -+ (B3n-2)= "(—Z—) . (5)

PRt 32 T Lt t]
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Q.1.A Answer following questions ANY-5 10 marks

1. How MIC poses disaster to human health.

ii.  Explain the phenomena of green house effect with suitable examples of green house gases.
iii.  Explainin short about thermal pollution
iv.  What are the differences between the term Developed countries and Developing countries?
v.  Explain about any one scheme introduced by Indian Government for children
vi.  List any 4 adverse effect that tourism leaves behind on Environment

vii.  What is the fear of global warming if temperature rises by 3°C? _

_Q.2.A Explain in brief about Industrial accident with suitable case study Smks
OR

Q.2.A Write a short note on HIV AIDS Smks

Q.2. B How tourism are degrading the quality of environment. Explain with suitable case study

Smks

Q.3.A Why Climate is the most important factor affecting the distribution of population ~ Smks
OR

Q3.A Write a short note on Air Pollution , Smks

Q.3.B Write a short note on Family Welfare programme ' Smks
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Instructions: 1) All questions are compulsory.
ii) Figures to the right indicate full marks.

Q.1. A. Fill in the blanks with appropriate word(s): (5x1=05)
1. is the only large storage area that the processor can access directly.
2. The policy determines where in real memory a process piece is to reside.
3. The lines provide a path for moving data among systems modules.
4. A new process is created by the system call.
5. A system is similar to a pagin‘g system with swapping where processes reside

in secondary memory

Q.1.B. State whether the following is True or False: (5x1=05)

1. Magnetic disk provides storage for both programs and data.
As a process executes, it changes its state.
Swapping is known as a technique for memory fragmentation.

A process is thrashing if it is spending less time paging than executing.

LA W

Indexed files uses multiple indexes for different key fields.

Q.2. Answer the following:

A. What is the use of device controller and device driver? (02)
B. What are the ways by which deadlocks could be handled? (03)
C. State the CPU scheduling criteria. (05)

Q.3. Answer the following:
A. Define thrashing. (02)
P.T.O.



3. L:xplain the following terms: )
- sadloc
a) Critical Section b) Dea

C. Wrile a nolec on Dispatcher.

Q.4. Answer the following: i Hition h
. : a
A. If the size of physical memory 15 64 MB with €ac P
multiprogramming d Symmetric Multiprocessors.

B. Mention the difference between Asymmetric an

C. Write a note on Deadlock Prevention.

Q.5. Answer the following:

A. State the use of the following terms:
b) Control lines

a) Address lines
Jocation with example.

B. Explain the concept of Proportional frame al

C. Write a note on semaphore.

Q.6. Answer the following:
A. Mention any two File Access Rights.
B. Write a short note on the Sequential File Organization.
C. Consider the page references 7,0, 1,2, 0, 3,0, 4, 2, 3, 0, 3, 2, with 4 frames.
Find the number of page faults using Optimal Page Replacement Algorithm.

((

()
‘)

aving SMB, mention thc degr(:e,},-

(()2)
(03)

(f)5}

(02

(03
(05)

(02)
(03)

(05)
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Instructions: i) All questions are compulsory.
i) Figures to the right indicate full marks.

Q.1. A. Fill in the blanks with appropriate word(s): (5x1=05)

I istheonly large storage area that the processor can access directly.

2. The policy determines where in real memory a process piece is to reside.
3. The lines provide a path for moving data among systems modules.
4. A new process is created by the system call.
5. A system is similar to a paging system with swapping where processes reside
in secondary memory
Q.1.B. State whether the following is True or False: (5x1=05)

1. Magnetic disk provides storage for both programs and data.
2. As a process executes, it changes its state.
3. Swapping is known as a technique for memory fragmentation.
4. A process is thrashing if it is spending less time paging than executing.

5. Indexed files uses multiple indexes for different key fields.

Q.2. Answer the following:

A. What is the use of device controller and device driver? (02)
B. What are the ways by which deadlocks could be handled? (03)
C. State the CPU scheduling criteria. (05)

Q.3. Answer the following:

A. Define thrashing. (02)
P.T.O.
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CoWrte a note on Dispatches

Q.4 Answer the following: ition having SMB. mention the degres ..
A Ifthe size of physical memon is 64 MB with each partition having ¢ ST
multiprogramming.
. - Q i IPrOCessSOrs. (03
B. Mention the difference between Asymmetric and Symmetric Multipre

> - . v!:“.
Write a note on Deadlock Prevention.

e

Q.5 Answer the following:

A. Suate the use of the following terms:

(02)
a) Address lines b) Control lines
B. Explain the concept of Proportional frame allocation with example. (03
C. Write a note on semaphore. (05)
Q.6. Answer the following:
A. Mention any two File Access Rights. (02)
B. Write a short note on the Sequential File Organization. (03)
C. Consider the page references 7,0, 1, 2. 0. 3.0.4.2. 3. 0. 32

<. with 4 frames_
Find the number of page faults using Optimal Page Replacement Algorithm_

(05)
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Instructions: i) All questions are compulsory.
i) Figures to the right indicate full marks.

Q.1. A. Fill in the blanks with appropriate word(s): (5x1=05)
1. is the only large storage area that the processor can access directly.
2. The policy determines where in real memory a process piece is to reside.
3. The lines provide a path for moving data among systems modules.
4. A new process is created by the system call.
5. A system is similar to a paging system with swapping where processes reside

in secondary memory

Q.1.B. State whether the following is True or False: (5x1=05)

1. Magnetic disk provides storage for both programs and data.
2. As a process executes, it changes its state.
3. Swapping is known as a technique for memory fragmentation.
4. A process is thrashing if it is spending less time paging than executing.

5. Indexed files uses multiple indexes for different key fields.

Q.2. Answer the following:

A. What is the use of device controller and device driver? (02)
B. What are the ways by which deadlocks could be handled? (03)
(05)

C. State the CPU scheduling criteria.

Q.3. Answer the following:
A. Define thrashing.



(03
enlain the following terms:
B. Explain the fo -
Decadlo
a) Critical Section b) (OS)

C. Write a note on Dispatcher.

Q.4. Answer the following: 4 each partition having g§MB, mention the degree of
wi

A. If the size of physical memory is 64 MB (02)
multiprogramming. . ultiprocessors. (03

B. Mention the difference between Asymmetric and Symmetrie Mt )
X ention (05)

C. Write a note on Deadlock Prevention.

Q.5. Answer the following:

A. State the use of the following terms: (02)
a) Address lines b) Control lines
B. Explain the concept of Proportional frame allocation with example. (03)
C. Write a note on semaphore. (05)
Q.6. Answer the following:
A. Mention any two File Access Rights. (02)
B. Write a short note on the Sequential File Organization. (03)

C. Consider the page references 7,0, 1,2, 0,3, 0, 4, 2, 3,0, 3, 2, with 4 frames.
Find the number of page faults using Optimal Page Replacement Algorithm:. (05)



o

FYBCA(

) 338 PM CBCS) Semester End Examination, JANUARY 2022 Subject: PROBLEM SOLVING AND PROGRAMMING CONEPTS

FYBCA(CBCS) Semester End Examination, JANUARY

2022 Subject: PROBLEM SOLVING AND
PROGRAMMING CONEPTS

Instructions:

1) All questions are compulsory.
2) The figures to the right

3) Write the answers on ful| scape paper bearing the proper format for student details.
4) Take good quality pictures of each page and make a single pdf.
5) PDF should be uploaded in the classroom with rollno.pdf naming format ex: 301.pdf

indicate maximum marks allotted to the questions.

* Required

1. Email *

. . . ) Fill with proper details
Candidate Examination Detail

2. Roll No. (In figures) * - : N

3. Roll No. (In Words) *

4., Examination *

5. Date” N

Example: January 7, 2019



(T 1A Py ive Age e ) Do

PACL

Kl Ny

Voial N o Chive toe O

wllon
WO A Sementer | nd | vamin ,

Nepp
."-’lllll FALSONVING AND .l'“"»"“l\“\f (R
temestenr ool

(N[

I L L [T

NN ponmemg ohd URBRNY 4 ahk o NS

i WE AN L BT Wik

Ql Answwm 1hie Folloaw s g

A Nlaph the follawing

JAILIAY 0

fo bt saininatinn

Potal N of pages 0!

Jamunip 01
HCAC Hol

Planivrani Mags s A0

[Fx NI k=h Marks)

Flawn Eena arion A Niciopioesson g
1 Second pene arion b acuume hibes
M Third penerasson C Dptegiatad ol ults
Fourth panes at o 1) ansislors
Fifu Chemes stioy, I Robancy

TR AL IEEM By Vi,

U Anvwer (he following in 1 line [FxINurk=s Nlnybis)

& Which keyward terminates the Joup and passes the coitrol 10 the et st on |
N the loop™

Which headar file ytores matheniarical functiens?

Whick file moda allows to resd, adis g wWikte to B flle e

Which function com et tlrlngs to uppercare”?

Whist valye i renaned by this flusction yy Addine x ine vy, 2

® A~

Q) Answes the follow ing
A L_m BV four festurey of High Level Larguages

Show how, SWIICH 13 used 1n
s PEOEammNg Wwith g yyjrghe I
¢ Dnaw g flowchast 10 Teverse g piyveg uum‘lilll e

(2 Marks)
[N arLs)
[SXfurks)

[2 Marlsy)

Mo oM an
b ldemis, 1, o

=inehude '-l'd‘W L . Pt of e !fl"(.)'ﬁ'ln! Pogram,

e mf/
void opar oar )
! ray)

[JMana]

floar eyl

it choice, pman

HM,'"'Prtn 1w f.JI‘Jj.[. ey Or(ﬂftl "..)'
Prustt! “Preey 74 caleulare aes of Vjlare nu',



,PM

T LY ) QCHIeS
lerend g
Xaminatig
n, JANU
ARY 2022 Subject: PROBILEM SOLVING AND PROGRAMMING CONEPTS

GE2

etf Prez: 3 to celoular _
m.tf«’p' 5 t cc]':-l_h-e arez of sphera

pnx'.tfl. Epter vour caice: ') Fagan'y

cnoice = input]h :

spatch (choice)

case 10
prief] Eater radivg: 1)
Frm = il '
resuit =314 % mam * e
pricaf Avea of sphere="); '
output{resulty ’
bresk

E,az-a_ 2 {
puix::‘ﬁ[“}?n-:e: side of square: &");
pum = dopi;
pezult = rum ¥ mum;
prz:f ' Arsa of sguare=");

ortput{Tesulty
bresk
case 3 {
pricef “Enter rediuz:n”);
= mpu‘a:. | -
) ] | alalala]

r&lﬁt: 4 - (3.14 * TEm » r—l:.!!l‘f;
pmv.:ﬁi‘.%:ea of sphare="Y; a
outputresult}; N
tresk:

defanlt
prinsf wrong Inputn®); i
ratam 1

1
int fpuel}

ipt rumber;

scanf"%ad’, Sonumber);
}

void outpar float muner)

{
primf! 54", mumber);

}
¢ Demonstrate the use of pested if-elzein C [PMarks)
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[2 Mark]
Q4. Answer the following: 1 Marks]
3. Define vanabls end corziant in C. e (5 Marks]
T i thres zdventsze: of zlgoritams. e aep Fow v 272 15€d.
T Name apv :\edf’r:ng relzred functions aad demopsTate bow 1
Q5. Answer the following: (22 i":;}
&  Name gav four basic dasanpa: i C. [3-\1“'6
b. Show how comments ave uzed in C. o [ farks]
¢ Demmonstrats the uze of uzer defned functiors 11 L.
Q6. Answer the following: [ farks]
& Dafire bug snd debugging. ' [AMfarks]
b. Nams the different type: of operztors ia C. [P farks]
¢ Identifv ten errors in the given code:
=inciude <zmdio k>
intam { )
int n: reversed = ¢; rercainder;criginal;
Pt Entar ax axteger: ;
canti n);
origiral =n;
whilz (n'=0) |
remamder =n ' 10;
reversed = yaverced * 10 + remainder;
a=a/10
H
if (originz] = revarsed)
Print %o iz z palindrome. *. original);
alse
ot % iz noe 3 palirdrome *, eriginal);
Te0om B
s > L2 CEP@DBoP LT 2] t'..#.#dc-tt#o..ttt.‘.‘QO‘..&O e
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